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(@) 3 (®) 1 () 2 (d) 4
2. 225 fie w9 ° =g foRan S wedn 2 1
(a) 5x3? (b) 5%x3 (c) 5%x3? (d) 5°x3

.430/1/2. 2




El”%
El%. Yy
General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises four sections — A, B, C and D. This question
paper carries 40 questions. All questions are compulsory.

(i)  Section A : Q. No. I to 20 comprises of 20 questions of one mark each.
(iii)  Section B : Q. No. 21 to 26 comprises of 6 questions of two marks each.
(iv)  Section C : Q. No. 27 to 34 comprises of 8 questions of three marks each.
(v)  Section D : Q. No. 35 to 40 comprises of 6 questions of four marks each.

(vi)  There is no overall choice in the question paper. However, an internal choice
has been provided in 2 questions of one mark each, 2 questions of two marks
each, 3 questions of three marks each and 3 questions of four marks each. You
have to attempt only one of the choices in such questions.

(vii) In addition to this, separate instructions are given with each section and
question, wherever necessary.

(viii) Use of calculators is not permitted.

SECTION - A

Q. Nos. 1 to 10 are multiple choice questions. Select the correct option.

1. The graph of a polynomial is shown in Fig. 1, then the number of its
Zeroes is 1

&Y

Fig. 1 " /\ / .
RN

v yl
(a) 3 (b) 1 (c) 2 (d) 4
2. 225 can be expressed as 1
(a) 5x32 (b) 5%x3 (c) 5%x3? (d) 5°x3
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3. et 1,2, 3, ..., 150 T1gesqT 4 1 T OIS YA T 6 I 8
4 2 1 1
@ 13 ®) 5 © 13 d 3
4, 2358TH
(a) qUTfeh (b) ufg @ (c) IrufeE & (d) Wihd 9
T SHERAT §e o HIEAeh qT Sgeieh shael: 26 A1 29 &, 1 36hl H1ed &
(a) 27.5 (b) 24.5 (c) 28.4 (d) 25.8
6. 14471 198 1 HEGH HATISAS 2
(@) 9 (b) 18 (c) 6 (d) 12
7. e figatt A4, p) da B(1, 0) % st Ft gl 5 318 B @ p /% W B/3:
(a) Fad 4 (b) a4 (c) +4 (d) 0
8. 34 e %1 & (Tt gerrgat ®), formss ofid A(5,0), B(8,0) @ C(8,4) &,
2
(a) 20 (b) 12 (c) 6 (d) 16
9. U fguma agug & YR H AN Q€1 H FAN: 3 R 10 7| fgErd wgue
2
(a) x2-3x+10 () x2+3x-10 (c) x2-3x-10 (d) x*+3x+10
10. T 5@ fog Q ¥ ws gu W Hid 7§ T @y H dens 12 WA qur Q
I % g ¥ gt 13 ot B1 g9 Fi B (@ 9) @
(a) 10 (b) 5 (c) 12 (d) 7
99 G&AT 11 | 15 1 sz wfiw)
11. IR tan (A +B)=+/3991 tan (A-B)=——l~ 2, SEfF A>B B, a A

V3

LIRS
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3. The probability that a number selected at random from the numbers

1,2, 3, ..., 15 is a multiple of 4 is 1
4 2 1 1
@ 15 ®) 15 ©) 7= @ 3
4. 235is 1
(a) an integer (b) arational number
(c) an irrational number (d) a natural number

5. The median and mode respectively of a frequency distribution are 26 and

29. Then its mean is 1
(a) 27.5 (b) 24.5 (c) 28.4 (d) 25.8

6. HCFofl44and 198is 1
(a) 9 (b) 18 (c) 6 (d) 12

7. If the distance between the points A(4, p) and B(1, 0) is 5 units, then the
value(s) of p is (are) ' 1
(a) 4 only (b) —4 only (c) 4 (d) 0

8. The area of a triangle with vertices A(5,0), B(8,0) and C(8,4) in square
units is _ ‘ 1
(a) 20 (b) 12 (c) 6 (d) 16

9. The sum and product of the zeroes of a quadratic polynomial are 3 and —
10 respectively. The quadratic polynomial is 1

(@) x*>-3x+10 (b) x>+3x-10 (c) x¥*-3x-10 (d) x?+3x+10

10. From an external point Q, the length of tangent to a circle is 12 cm and
the distance of Q from the centre of circle is 13 em. The radius of circle
(in cm) is : 1

(a 10 (b) 5 (c) 12 (d) 7
In Q. Nos. 11 to 15, fill in the blanks.
11. If tan(A+B)=J§ and tan(A—B)=—\%_§, A > B, then the value of A

1S . _ 1
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14.

15.
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2 :

afg TN -2y =3 T 3x+y=5 @ @ fog W ufo=adt @i #
el st & @t ks ae 2

HAAT

of fgoma wfieRor 3x? -4x+k=0 % Y@ AR E, @ k W AW
2

afg fig C(k, 4), Figait A2, 6) a1 B(5, 1) 1 faem et Y@m@ve #i 2:3 %
3TUTT | STl §, df kT A ®

HAAGT

afg foig A (=3, 12), B(7, 6) @41 C(x, 9) €@ &, Al x %1 HH B .

sin? 65°+sin? 25° T 7 8

9T GE&AT 16 | 20, T & I difu|

16. IS TH THIG HE B 4T UG (7 — 4n) 8, A THHT AETal FIT 27

17. Ife 9rEl & UH I I TH IR ISTAT T, A ATES 8 A h AT i

77

18. ) il % &well H 9:4 T UG 7, ot Ikl IR o Fm rgura 87

|
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12.

13.

14.

15.

The perimeters of two similar triangles are 25 cm and 15 cm respectively.
If one side of the first triangle is 9 cm, then the corresponding side of

second triangle is

If the equations kx—2y=3 and 3x+y=35 represent two intersecting
lines at unique point, then the value of & is

Or
If quadratic equation 3x% —4x+k =0 has equal roots, then the value of
k is
If the point C(k, 4) divides the line segment joining two points A(2, 6) and
B(5, 1) in ratio 2:3, the value of k is

Or

If points A(-3, 12), B(7, 6) and C(x, 9) are collinear, then the value

of x is

The value of sin? 65°+sin® 25°is

In Q. Nos. 16 to 20, answer the following.

16.

17.

18.

The nth term of an AP is (7 — 4n), then what is its common difference?

If a pair of dice is thrown once, then what is the probability of getting a

sum of 87

The areas of two circles are in the ratio 9:4, then what is the ratio of their

circumferences?
]
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19.

20.

& N 5sin®—3cos0
Stan0=3%, {4sin9+3cose) RRAE

figs ABC ws wmfgamg fiyw @ @@ AC =BC 21 3¢ AB? =2AC? 2, @i
ZC & |19 a hifsr)

TE - @

U9 HEAT 21 | 26 T T 9 & 2 3® 2

21.

22.

23.

24,

fag ifsre - i sy =gec O —tan 0

1+sin0

ruar
£ - tanZ 0 cot? 0

g 'l+tan29+l+cot29
a1 fafte oEt it T WY 3BT TN 3 W AW ATt IS H ANHA S
T %5 21 I gifeRar sma Sifse)

JTYar
forefl arg=sa fou g ad & JewR A # 5 MgER gW A wikear J@
il

T I | 5 A e 9 Fo Aieft W ¥ At I F | ageem w it e
T 1 wfeRdT, T el T o fHehrer s STfieRar o 9 T 8, A Ot
7 ficht gt it T Fma Fif|

=]

TgTe (9x% +12x+10) W (3x+2)F Wit Afw IR yrTHe qen v
fefiau)
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19. If5 tan O = 3, then what is the value of [551119—30059]

4sin0+3cosHO

20. A ABC is isosceles with AC = BC. If AB? =2AC2, then find the

measure of ZC. 1

SECTION - B

Q. Nos. 21 to 26 carry two marks each.

21. Prove that 1- chid e sec 0 —tan 0. 2
1+sin0
Or
2 2
Prove that tan” O + cot” 8 &

1+tan2@® 1+cot?0

22. Two different dice are thrown together, find the probability that the sum
of the numbers appeared is less than 5. 2

Or

Find the probability that 5 Sundays occur in the month of November of a
randomly selected year.

23. A bag contains 5 red balls and some blue balls. If the probability of
drawing a blue ball at random from the bag is three times that of a red
ball, find the number of blue balls in the bag. 2

24. Divide the polynomial (9x +12x+10) by (3x+2) and write the quotient

and the remainder. 2

..430/1/2. 9 P.T.O.




25. Wl 2 H, T g9 T 9gHS ABCD it @t yonedt @ wn war g,
" AB = 6 &, BC = 7 @t @1 CD = 4 &+t @ @ AD & =@ 7
ENE L 2

26. U gaHR Uk forgeht aftfyr 88 ft B, uw 7 M = wew @ frr | HeE W
&A% A hIfT 2
LCER | '

YA WEAT 27 ¥ 34 Tk T U9 % 3 3 B

27. 4 @ft B 1w g9 difag) g & g @ 7 Gt A gt o s g @

I9 T w9 T gm hi e R 3
aroraT
6 Ut TaITg 1 Uk [@rgvs Wifuw gur @ 3:2 % U A i Hifm
28. forg FRQ f6: (1 +tan A —sec A) x (1 +tan A +sec A) =2 tan A 3
roraT

frr= i B cosec . cosec = Dsacl

cosecO—1 cosecO+1

29. 2 % 3 w arafiiy g 2, qufse R (5 +243) U s e B 3
Jrera
et We 7 612 Hewl ATl U A Fi TR B 48 T A TF F *
919 7 FE 81 GF GUE H GHH GG a1 SR § W e 21 A
Tardt &t it wen, Red a8 o 9 g 8, F91 27
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25. In Fig. 2, a circle touches all the four sides of a quadrilateral ABCD in
which AB = 6 ¢cm, BC = 7 cm and CD =4 cm. Find AD. 2

c

Fig. 2

A

26. A road which is 7 m wide surrounds a circular park whose circumference
is 88 m. Find the area of the road. 5

SECTION -C
Q. Nos. 27 to 34 carry 3 marks each.

27. Draw a circle of radius 4 cm. From a point 7 cm away from the centre of
circle. Construct a pair of tangents to the circle. 3

Or
Draw a line segment of 6 cm and divide it in the ratio 3:2.

28. Prove that (1 +tan A —sec A) x (1 +tan A +sec A)=2tan A 3
Or
Prove that SOSRCY + eoiech), & 2sec? 0

cosecO—1 cosecO+1

9. Given that /3 is an irrational number, show that (5 + 23 ) is an irrational

number. 3
Or

]

An army contingent of 612 members is to march behind an army band of
48 members in a parade. The two groups are {0 march in the same number
of columns. What is the maximum number of columns in which they can

march?

..430/1/2. 11 PTO.




e =t ufey @t o § faw wwat % 3w iRt
30. 9% THA H QA-%g BEARe R
w0 % fo, w smaR #m ABCD #, 93
A e 1 m$ gt w ufteat s=rE W §) AD
% N WER 1 m i g W 100 ™R @
T E, S R oomfa 3§ el mm 2
ﬁmﬂmqeﬁdﬁﬁﬁAD%%m%w
1 gl decht 2 3R I7T T &0 we e At )
s st e & AD % ¢ % s
gt arsdlt 2 3R 7T v e wen e At B
(i) 3 TSt & e i g w7
(i) afe 0 = w Hen g2 W G FE H e T TewEE w

el gt W (= #) e B @t 3/ YT HST FEf Mer =iRe?
G gRT & <hifru: 2x+3y=2, x-2y=8
forg e 5 g 3 Fareft fig e vt Y et fiig @ S et e

31.
32.

33.

34.

mlaw 35 ¥ 40 T Tedes U9 & 4 37 F

35. 9= el @ wed §d i

et B

EiaE

Teh eIV g, fred A o mwehiv R, s g9 % ufor 21 9f AB = 6 &t
a1 BC = 10 &4t 8, @ g9 i B sma $ifdm)

feama sgug x% +7x+10 % Y= T FIRC iR st qon Ui F s
% Hay it gogar A st Al

T e -9

Ehian
C.
10 |
T /vy,

L | ! B
1V 24y 4546 170859 949
TR 3
3
3
3
3
3
4

Cuf

0-20

20-40

40-60

60-80

80-100

100-120

ERCIGIR

20

33

52

44

38

31
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Read the following passage carefully and then
answer the questions given at the end.

30. To conduct Sports Day activities, in your
rectangular shaped school ground ABCD,
lines have been drawn with chalk powder at
a distance of 1 m each. 100 flower pots have
been placed at a distance of 1 m from each
other along AD, as shown in Fig. 3.

31.

32.

33.

34.

Niharika runs lth the distance AD on the

2nd line and posts a green flag. Preet runs

5

lth the distance AD on the eighth line and

-

> (KK

i L T e
e,
G

{

112, 34156 .78 9910

Fig. 3

posts a red flag. 3
(i) What is the distance between the two flags?

(ii) If Rashmi has to post a blue flag exactly half way between the line

segment joining the two flags, where should she post the blue flag?

Solve graphically : 2x+3y =2, x—2y=8 3
Prove that the tangent at any point of a circle is perpendicular to the
radius through the point of contact. 3
A right triangle ABC, right angled at A, is circumscribing a circle.

If AB = 6 cm and BC = 10 c¢m, find the radius of the circle. 3
Find the zeroes of the quadratic polynomial x2 +7x+10, and verify the
relationship between the zeroes and the coefficients. 3

SECTION -D

Q. Nos. 35 to 40 carry 4 marks each.

35. Find the mean of the following data : 4
Classes 0-20 | 20-40 | 40-60 | 60-80 | 80-100 | 100-120
Frequency 20 35 52 44 38 31

13 P.T.O.
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36. @i 4 #, DEFG T a1 @ St O /QA\

3.

38.

39.

40.

Tl Bryw % sfaria s 2, ford ) G
/A gwei 2 fag Hifse fe \

(i) AAGF~ADBG
(i) A AGF~A EFC

HAIAT
s A w1 Brys ABC i (£B 1fiss & 8), AD @8 718 41 CB
= @a 2 a fag fifw 5 AC? = AB2 +BC2 +2BCxBD

U GHE AE F A9 92 H =R A1 366 189 U¢ F 18 A1 & GHF 2l 39
¢t 1 2281 98 F1d Hif
areran

Tt 3@ 24, 21, 18, ... % foraa ye fou wmd aifsh 3 3 78 |12

T Gell Jedl, U % fous % en i @ fmdht Fe 21 Wh qun Fe
qg1 ot g ol A Breard s 10 & ur 20 W ) T 40 i i
1 50 Y, 34 g¥ H eI FIA HITIC S 1wt Bl T T FH|

Jreran
UF 39 UF SN W ARG U WF F AHR H gl Al hi Beand
3.5 Tt & qo 3| T F=0g 9.5 WA B 3W 3 H G 14 i

u HHR % UE-fig ¥ UF WeT % RrEt # 39 B0 30° 8, IR Wl %
qre-feg & MR % frex &1 I F0 60° 71 AlG HAR 60 Ht S &
yaq i F=E Fa Ay

ammﬁwms%wﬁaﬁﬁﬁmm%%lé@ﬁm
ifs
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36.

37.

38.

39,

40.

In Fig. 4, DEFG is a square in a A

triangle ABC right angled at A. - /0\ %

Prove that Fig. 4

(i) AAGF~ADBG < \
D E 9

(i) A AGF~AEFC
Or

In an obtuse A ABC (£B is obtuse), AD is perpendicular to CB produced.
Then prove that AC? = AB? + BC? +2BCxBD.

If 4 times the 4th term of an AP is equal to 18 times the 18th term, then
find the 22nd term.
Or

How many terms of the AP : 24, 21, 18, ... must be taken so that their sum
is 787 '

An open metal bucket is in the shape of a frustum of cone of height 21 cm
with radii of its lower and upper ends are 10 cm and 20 cm respectively.
Find the cost of milk which can completely fill the bucket at the rate of
T 40 per litre.
Or

A solid is in the shape of a cone surmounted on a hemisphere. The radius
of each of them being 3.5 cm and the total height of the solid is 9.5 cm.
Find the volume of the solid.

The angle of elevation of the top of a building from the foot of a tower is
30°, The angle of elevation of the top of the tower from the foot of the
building is 60°. If the tower is 60 m high, find the height of the building.

The difference of two natural numbers is 5 and the difference of their

reciprocals is % Find the numbers.
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